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BfL. K 4 i B 2E KE =
1 ZfE KH AU HE /N5 13/ 3 31. 41 10%%
2 fetE AU H AN 14/ 1 31.60 9%
3 Mgy JSSH¥ /N 10/ 4 31.78 10/%%
4 Wy 33 AU H 12/ 1 32.36 9%
5 BH EE HRhkyFSC /M 11/ 5 32. 69 9%
6 =i WA AU H A4 10/ 5 33.20 8#%
7o EA SPRE7=F 0 /NG 7/ 6 34. 60 %
8 WA  HIF] Ly 7SC /3 7/ 3 35.33 8%
9 it SR NR2ZRS'S /N3 8/ 7 35. 42 8%
10 T O SPEG7ZF V) ! 7/ 2 35. 54 %
11 b s HKy7SC /M 8/ 1 35.70 6%
12 A& HBTFE B7YHeSS /M 8/ 8 35. 82 67%
13 % = AL R /NG 6/ 5 35. 94 6%
14 R H 72 F Hhy7SC /3 8/ 6 36. 20 %
15 ZEJIl A+ HKRy7SC /3 7/ 4 36. 32 TH%
16 M HERL k7S C /N4 6/ 4 36. 89 TH%
17 HH A HKy7SC /)b 6/ 6 37.01 5%
18 F# FEFn J SSH¥ /N4 7/ 5 37.18 5k
19 Y FESEMNm AR AR /N3 7/ 7 37.21 T
20 WEIFERE THeTHE N7/ 8 37. 62 5tk
21 &S #h2E k7S C /N4 4/ 5 37.72 6%
22 KL T HEHZEA /N3 3/ 4 37.79 %k
23 BpAT i J SSHA¥ /N 3/ 6 38.49 43t
24 T KR a%/SS /N4 6/ 1 38.99 4%
25 £ WE HKRy7SC /3 4/ 6 39.35 5%
26 e FijJy J S Sk /N3 3/ 5 39.77 5k
27 KW A k7S C /N2 4/ 2 39.78 8k
28 HEfF ] J S Sk /N2 5/ 3 39.96 8%
29 A 2R k7S C /N4 3/ 8 40. 02 3%
30 HA  HMEE J S SR /N2 4/ 7 40. 22 Sk
31 BT Ebl VYAV NI /N2 5/ 1 40. 33 8%
32 FE  KHR Ly 7SC /3 4/ 3 40. 34 5k
33 By x5 J S Stk /N4 3/ 7 41. 51 21%
34 k2 —m HI7ASS 3 2/ 4 41.97 4%
35 (U FHAEER 2%F /S S /N3 3/ 3 42.55 3tk
36 TAF JIE, N 2RSS /N2 2/ 6 42.70 6%
37 Hl H ~N2Z8S'S /N2 2/ 3 42. 80 6%
38 il SEmk N 2RSS /N3 2/ 5 42. 85 3%
39 /g ik HRy7FSC /bl 2/ 2 44. 71 5#%
40 1ERE FiF aF /S S /N4 2/ 7 45.17
41 '=H P HT7HESS /2 2/ 1 46. 02 4%
42 HHRF L SPEL7Z=% 0 /N2 1/ 5 46. 07 45%
43 A 7 HKy7SC /M 1/ 7 48.50 3%
44 R AR H7Y eSS /bl 1/ 1 48. 66 2%%
45 HH AE HTHESS /N2 1/ 6 48.76 24%
46 JIF 2EA HTASS N2 1/ 3 49.73 25
47 HBK AR ~_ 2SS /N2 1/ 2 54.15 *F&)

KKy EA HT7HAHSS /N3 1/ 4 %44
=) B 2FE /) SS /N2 3/ 2 k4.4
OPN mijJIl &b A4 h~r48E /N3 12/ 6 32.70 10:%
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OPN W H A h~r&E /4 11/ 8 32.82 9%

OPN KlE % A =4 /b 9/ 6 35.39 TH%

OPN &)1l 0 A4 hv4E M 8/ 5 35.52 TH%

OPN LR Zig A4 h~wr4E /NS 7/ 1 38. 45 9k

OPN KEF/v U 7 A h~4E /M 5/ 5 39. 40 4%

OPN BH #if& b= /N4 6/ 8 39.90 3tk

OPN fEH Hif A S 11T B Y 3/ 1 41. 65 TH%

OPN 5[] DR A h~vraik /3 4/ 1 42.01 Tk

No.3 &F 50m BHF B A L L— R R

L 11~12% >

IBf. KK 4 & 2E KB i
1 BRH FE J S Stk N6 17/ 2 28.03 105
2 BH HH H7HYeSS /5 16/ 5 28.50 1Lk

- JOC
3 HE BA HRhyFSC  H1 16/ 8 29. 51 9%
4 KE L J SSH¥ /N5 15/ 2 29.54 10#%
5 HME R LR ~N 288 S /N5 15/ 8 29. 68 10:%
6 42l HKAE TS SKABK /N5 14/ 4 30. 46 %%
7T iy =7 SPI7=F 0 /N6 13/ 8 30.70 S
8 KLY AP SPEH7=% 0 /N6 14/ 8 30. 74 8#%
9 ik ThE SPEE7-% 0 /N6 14/ 3 30. 89 8%
10 A0 FFLK Hhky7SC /5 13/ 4 31.15 9k
11 PRz 7% eSS /N5 14/ 6 31. 21 8k
12 | s ] S SR /N5 11/ 4 31.51 8%
13 FERVDHAE By 7FSC /5 13/ 5 31.52 8#%
14 ¥H B N 2RSS /N6 13/ 6 31.67 %
15 ¥k IR 7Y e TH /N5 12/ T 32.16 8%
16 =G hr HT72ASS 5 11/ 6 32.63 Tk
17 )y ZE+ ~y7FSC N6 11/ 2 32.88 6%
18 B&ES A ] Ss@a+ /N5 10/ 3 33.39 %
19 ek &R JSSHT /N5 10/ 1 33. 41 TR
20 Yy BEAD =4 Kkk157° N5 10/ T 33.65 T
21 [ ERE JSSHT N6 10/ 2 33. 68 6%
22 EH  FifE SPEE7Z2F 0 /N5 10/ 6 33. 84 6%
23 MAAR(EIRZ k7S C /NG 1L/ T 33.90 6%
24 HE e H7YEeESS /N6 9/ 1 34. 11 5%
25 BN OB HT72ASS /5 10/ 8 34.16 6%
26 PR FIAT 2E /S S NG 9/ 2 34.46 *TFH) 5%
27 BEH = SPRE7ZF 0 N 9/ 4 34. 71 6%
28 EIl  FikE SPEHTZ £ D AN 8/ 3 34. 81 6%
29 i DR R (L /NG 8/ 4 34.92 6%
30 HA 1t 7Yt TH /NG 9/ 8 35. 44 5k
31 #nk H&E JSSHET /N5 6/ 2 35. 67 5%
32 EH AW AR /N6 9/ 7 35.94 45
33 = A B J S Stk /NB 5/ 7 36. 30 5k
34 A BRTE ~N 2RSS /NG 5/ 4 36. 81 45%
35 M I J S SHABK /N5 8/ 2 36. 82 45
36 [T L aFE/SS N 6/ 7 38.53 3%
37 MH SERE Z4KIKITTT N6 5/ 2 39.99 2%
38 P L ~NZXS 'S /N6 2/ 8 44. M
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OPN J&/K M3 A4 h~4E /N6 16/ 2 28.99 1058

OPN A R i A4 w4k /6 16/ 1 29. 67 9k

OPN LR 16 H A4 h~2%k /6 14/ T 30. 84 Sk

OPN 2l FH& A h~r4E /6 13/ 2 31.26 Sk

OPN Fili % A b~2%4E /6 12/ 5 31.27 8%

OPN #HA 2= A h~ 48 /b 12/ 4 31.69 8H%

OPN H)II EHH A h~ % /s 12/ 2 31.79 S

OPN JLjE KH bz I /N5 12/ 3 32.00 8k

OPN #5 HAEHE T A v~ E s 11/ 1 33.07 Tk

OPN /K& HhZE bt =hAaz ) /NG 5/ 6 38.74 3%

OPN I+ A4 h=ULE N6 5/ 8 38.97 Ltk

No.3 ZF 50m BHHE# B A LL—RREE

L 13~14:% >

B K 4 T & 2E KK L=
1l S ~N2ZRS'S 1 17/ 6 28.09 10/%%
2 AT ek JSSHT F2 17/ 3 28. 47 9%
3 Rl A5 HhkyFSC 1 17/ 8 29.10 9%
4 Ry Y AEE DY A 1 16/ 3 29.20 9%
5 FEPEFJHAE HT7ASS  HF2 16/ 6 29. 27 Sk
6 H)l BHE A KUKI77T 1 17/ 7 29. 68 Sk
7 OEHR fEME ZHOKUKI77T T2 15/ 4 30.18 %
8 /hE BEF 7 e TFH 1 15/ 7 30. 25 8H%
9 AR BRE k7S C 11 15/ 6 31. 11 %
10 HF JRA ~N2Z8S'S Pl 13/ 1 31.13 Tk
11 fEEy P MBS#/n" =7 F2 11/ 3 32.50 5%
12 #&F =i ~NZ/NS S 12 9/ 5 33. 36 4%
13 /K & aE/SS ==h] 9/ 3 35.67 3%
14 FEIZDOD N AR 1 4/ 4 39.75

OPN f&H LNfF A b~4%E  H2 15/ 3 28. 86 Ok

OPN HTE=Hmeit A4 b~ #1015/ 5 30.08 8#%

OPN AKH #jt bz )l d2 13/ 7 31.36 6%

No.3 ZF 50m BE A LL—RREH

L 15sRLlE >

Bf. K 4 Fr & 2E KE L=
1 Bk B J SSH+ 3 17/ 4 26. 75 10#%
2w JSSHT =2 17/ 5 28. 26 SH%
3 &k Az HET7HYEesSSsS &H117/ 1 28. 63 Stk
4 FBp ZERe J S SIABK =2 16/ 4 29. 26 TH%
5 'BH ERE H7Y eSS &3 14/ 5 30.72 6%
6 H R MBSH/1 =7 =1 14/ 2 31.24 6%
7 e BRE ~N2Z88 S 3 12/ 8 32.58 45
8 /MR HT7%2ASS @&l 4/ 8 43. 20

OPN PEMHD &) b -NAZINBE EmL 15/ 1 32.56 45%
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